AP Macroeconomics            Mr. Sadow          Chapter 3 Extra Credit #2 of 5
Put the answer on the line.



                                    Name: _____________________________
***This is due on or before the day of the test review


Period: ____

Variables that impact AD                                                    Variables that impact SRAS
C= _____________________________________

P= _____________________________________

I=  _____________________________________

I=  _____________________________________

T= _____________________________________

S= _____________________________________









T= _____________________________________

What is being impacted, AD or SRAS, and is it Positively () or Negatively () Impacting GDP/Y/AD?

                                                                             Impacts AD        Which acronym      Impact on GDP,
                                                                               or SRAS?                  letter?                     or ?
Example: If personal income tax is decreased?  ____AD____               __C__​_                    ____
1. If business income tax is decreased?              ___________               ______                     ______
2. If the price of a key input increases?              ___________               ______                     ______
3. If the government increases spending?           ___________               ______                     ______
4. If electric costs increase?                                 ___________               ______                    ______
5. If personal income tax is increased?               ___________               ______                     ______
6. If a key resource costs less?                            ___________               ______                     ______
7. If inflation is increasing?                                 ___________               ______                     ______
8. If workers’ wage increase?                             ___________               ______                      ______
9. If inflation is decreasing?                                ___________              ______                      ______
10. If the government decreases expenditures?  ___________               ______                      ______
11. If workers’ wages decrease?                         ___________               ______                      ______
12. If a binding price floor for wages is created?         ___________               ______                      ______
13. If the government increases business subsidies?    ___________               ______                      ______
14. If business equipment becomes more expensive?  ___________               ______                      ______
15. If private business investment tax is increased?     ___________               ______                      ______
16. If the government decreases business subsidies?    ___________               ______                      ______
